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TEMMUZ 2013 VE ÖNCES‹ TAR‹H BASKILI
‹STAT‹ST‹K I

DERS K‹TABINA ‹L‹fiK‹N DO⁄RU YANLIfi CETVEL‹
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xi (xi-µ) (xi-µ)2

55 -17.5 306.25

62 -10.5 110.25

68 -4.5 20.25

72 -0.5 0.25

75 2.5 6.25

80 7.5 56.25

83 10.5 110.25

85 12.5 156.25

∑ xi= 580 ∑ (xi - µ)= 766

xi (xi-µ) (xi-µ)2

55 -17.5 306.25

62 -10.5 110.25

68 -4.5 20.25

72 -0.5 0.25

75 2.5 6.25

80 7.5 56.25

83 10.5 110.25

85 12.5 156.25

∑ xi= 580 ∑ (xi - µ)2= 766



6- Ünite 4, Sayfa 100
P (B|A) ≠ P (A)

7- Ünite 4, Sayfa 111 

8- Ünite 5, Sayfa 127 
x ≥ 1 ise ve x ≥ 1 ise

9- Ünite 5, Sayfa 142
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6- Ünite 4, Sayfa 100
P (A|B) ≠ P (A)

7- Ünite 4, Sayfa 111

8- Ünite 5, Sayfa 127
x ≥ 1 ise 

9- Ünite 5, Sayfa 142
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İkinci Atış

İlk
Atış

1 2 3 4 5 6
1 (1,1) (1,2) (1,3) (1,4) (1,5) (1,6)

2 (2,1) (2,2) (2,3) (2,4) (2,5) (2,5)

3 (3,1) (3,2) (3,3) (3,4) (3,5) (3,3)

4 (4,1) (4,2) (4,3) (4,4) (4,5) (4,6)

5 (5,1) (5,2) (5,3) (5,4) (5,5) (5,6)

6 (6,1) (6,2) (6,3) (6,4) (6,5) (6,6)
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